Name KEY SP211/1121 Quiz 2 - 21 Jan05

1. A particle begins from rest and accelerates at 10.0 m/s’ Cs)
a. How long does 1t take to travel 100m? '
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b. What 1s its velocity when i1t has traveled 100m? ( 3)
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2. The Barringer meteor crater in northern Arnizona 1s 180m deep. The fragments of the meteor @
lie just below the bottom of the crater. If these fragments decelerated at a constant 4.0x10° m/s

as they ploughed the 180 m through the earth while creating the crater, what was the velocity of
~ the meteor just prior to impact? Assume the meteor stick the earth normal to the surface. Will

you be making upward or downward positive? ( ( )
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Extra Credit: What establishment in Buffalo, NY was the first to serve Buffalo Style Chicken
Wings? What 1s the correct dipping sauce? (must get both correct for 1 pt out of 10)
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